22

B
o

In the figure, what is the value of x ?

F 6

G 642

H 6J3

J 12



29 In rectangle ABCD, the slope of AB is % What is the slope of CD ?

G

L )
/5 "~z

A <

31 DEFG is a rhombus with m/EFG = 28°.

-
E
M

7’% '

~d

D

F

What is m/6DE ? J,_é_i.
eGF =



33 A rectangular rug is 24 feet long and 10 feet wide. A rhombus design is
formed inside the rug by joining the midpoints of each side of the rectangle.

What is the length of each side of the rhombus?

12 (AP

S22 ?’S >
g hr12 =c
c=13 § 4

I ‘2

34 A man who is 6 feet tall casts a shadow that is 4 feet long. At the same time,
a nearby flagpole casts a shadow that is 18 feet long. How tall is the flagpole?

X

A
N g )<
G--C‘
N& el



39 as a stant-height of 10 centimeters and a lateral area-of 60= square

centimeters. What is the volume of a sphere with a radius equal to that of

the cone? S phsi &
Con= — 2
Lo Tasmel VR ETY
D 1339 =Jr- (- 10 =476
- Q\QYTT

40 Which line of reflection maps point K at (“2, 2) to point K’ at(2, —2) ?

éﬂ'—z (-2,2) (272

V=X
H x-axis

"1~
J  y-axis E=S S




41 If the coordinates of A are (1, 1) and the midpoint of AB is (—2, 0), then the
coordinates of B are —

A (°0505)
(0.5,0.5)

e % e

- 2 -3 -

45 A regular quadrilateral has what type of symmetry?

A Line symmetry only ’ e
B Point symmetry only

Both point and line symmetry
D Neither point nor line symmetry




42 Which transformation could move the triangle P to triangle P’ in a
single step?

y

'y

8

7

6

5

4

3
N N\

, \ \
P P’

1

O 1 2 3 45 6 7 8

XReﬂMion over x =4

8¢ Rotation about (2, 3)

J Translation




43 Figure STARFIND is symmetric with respect to the x-axis. The coordinates of
point A are (8, 6). What are the coordinates of point NV ?

J‘i (%14)







29 In rectangle ABCD, the slope of AB is % What is the slope o@

&
\/ -7

31 DEFG is a thombus with mZEFG = 28°.

-
IT
]

wﬁ 2o
| 182
What is mZGDE ? 4 D 6 E_

/ .

d

[




33 A rectangular rug is 24 feet long and 10 feet wide. A rhombus design is
formed inside the rug by joining the midpeints-of each side of the rectangle.
What is the length of each side of the rhombus?

| 2~ | 2~

2 2 'E
S4127=c®*= <=3

34 A man who is 6 feet tall casts a shadow that is 4 feet long. At the same time,
a nearby flagpole casts a shadow that is 18 feet long. How tall is the flagpole?

6 _ =
A ¥ X 18
_ Hx=10¢8
(&) r> A7

(Vo ¥

——

Y vl
25 F+ A

10



39 A cone has a slant height of 10 centimeters and a lateral area of 607 square
centimeters. What is the volume of a sphere with a radius equal to that of

the cone? Cai\e )\('_‘

A 102: L,ﬂ /T rl \;’ 77 rz

#Erim T8 gwég
el —6 -4

= 2. 2etlT

40 Which line of reflection maps point K at (=2, 2) to point K' at(2, =2) ?

xx_

y=Xx

X-axis
y-axis

11



41 If the coordinates of A are (1,1) and the nmmh(@hen the

coordinates of B are (. II \ ) ( - 2 , OJ
A (0505)

B (05,05)
cC (1,0
D (5 1)

q 44‘5
45 A ro_a_w quadrilateral has what type of symmetry?

A Line symmetry only

B__ Point symmetry only \
Both point and line symmetry

D Neither point nor line symmetry




42 Which transformation could move the triangle P to triangle P’ in a
single step?

J
'y
8
7
6
5
4
3
5 \\ \\
. P P’

r
-

O 1 2 3 45 6 7 8

Reflection over v=4

anslation

13



43 Figure STARFIND is symmetric with respect to the x-axis. The coordinates of
point A are (8, 6). What are the coordinates of point NV ?

é-; ( &,6 )

14
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